FE AEREFEHREFIERE 1HEETX
13—k 23—k 30—k 43—k 50—k 62—k 73—k 8a—hk 9a—pk
9:30 VZTREF | VZTLKF | VA TREF | DA TEF | VA= TEF | VA TEF | VA= TEF | DT ERF | V21T KF
EPN: 13 EPN: 13 18-19-20 16-17 14-15 12-13 14-15 16-17 18-19-20
17 30 38 30 21 24 17
RIS EHEREET DAZTFEF | Pa=7LkF | Pa=7LkF | Pa=7XF | Pa=7EF | Da=7BF | Pa=7BF
i BB EIRE 12-13 10-11 8+9 67 67 8-9 10-11
23 34 23 13 17 22 45
404 | 2844 RTIUTF RTIVEF | RTIVEF | RTFSVUEBF
i 451 k 35~44 40~49 50~59
VT EF DITRF 9 13 25 16
Gif%N:44 Gik%N:47 RTSUBF
60LL E
57 RBEHEREET 10
BB 1EIRE
5F—L | 8F—L
| | I 59 I 64 I 61 56 63 62 62
12:00 | R 8 (k& &)
13:00 ST TF DITRF TR F TR F DZTEF | VaZTBF | DaZTEF | VoA TELF | V21T LKF
—50kg#k —55kg#k —61kg#k —68kg#k +68kg#k 18-19-20 67 8-9 10-11
RBEHEREET 25 14 22 30
E1ERE DAZTERF | VaZT7EF | P2 TBF | D2 TEF
4 18% | 15% | 15% I 144 I 104 18-19-20 10-11 89 67
18 49 26 24
VT BF VITEBF VT BF VT EBF VZTBF | VaZTBF | V2 TEF | VoA TELF | V21T LKF
= —60kg#k —67kg#k —75kg#k —84kg#k +84kg#k 12-13 12-13 14-15 16-17
RBEHEREET 59 30 30 27
MEETE RTIVEF | RTIVLKF
. 21% | 284 | 194 I 214, I 194 35~44 451 &
i 10 4
DZTREF | VZTEF | RTIVUBF | DA TREF (D= TEF RTIVEF | RTSUBF
= A Bk Gik%y:33 40~49 16-17 14-15 50~59 60LL
5 32 49 59 8 6
REBELEFREET
WEETE
HF—L | 11F—L




66

84

88

102

93

96

91




